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L. Answer the following questions : 1

O I By forgy -

(@) 1f statement p stands for 2+2=4 and

Statement q stands for 3-1=0, then
find the tryth value of PAQ.

W p oI 24243 @ g SREOE

3-1=0% um, ow paqd FoEA Ffa
Sl

(b)  Write the negative statement for the

following .

“All good teachers are male.”
O SRR st ferat -
RIS s 1Y |
(c) Find the mode of the following digits :
TS Rl ST ot e fady 1
2,4,6,8,2,3,7,5 09, 4,7, 4
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(d) Fill the blank in the following Series
wore o oo WA SR A ‘

ZAs, YaB, XCg, W3D,

e) What do you mean by correlgt;
5l coefficient? lation

eers SIS e ogwe

2. Answer any five of the following questions -
. 2x5§10
e i R P A6 oY Te for

(@) In how m.any ways you can dresseq
v with a shirt and a pant if you haye
4 pants and 5 shirts?

o 451 (75 SHIF 561 BI6Y 1 1 Bff it iy
o5 Rewe g P ifkar?

(p) If +’ means <, “’ means *’, %’ means
2’ and +’ means ‘+’, then find the value
of 25x5-15+3%4.
i +'3 gf <, <9 Tef %’ <’q 9 ‘= i
g ad 4 W, (OB 25x5-15+3 43 4
fadfy =41

If the mean of first n natural numbers

(c)

is %E-, then find n.

i q9w bl TOIRT MY WY 59_n Y, (O
nd I i F
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(d)

(e)

/

y
/

(i)
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Solve
4x+3513-x

and represent it in the number line.
x ® T 4 T% ATHPAND

1f (@) MATHEMATICS = 12345123678,
then ((303) MAHATMA="?

Find the number of diagonals of an
octagon.

a5 wgEa i e =

«In a group of 370 people, there are
at least two people with the same€
birthday.” Is the statement true?

Justify your answer.
‘370 SRR @B AT T e FRS T
Wwﬁ?aﬁmmr‘m TS ?

o Ted gfegeel afem <4

How many times a wheel of radius
28 cm rotates to go 352 m?

(Take 1:-——-2?2-)
352 bW 7y WA 28 @ . JPIER 9Ot o
R T g abr? (Far SR = 22)

A is B’s sister, C is B’s mother, D is C’s
father and E is D’s mother, then how is
A related to D?
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A e BY B, C Y& BT W9, D tage
: C

woOT WE E W' DI ¥, (eEm
oS AT 5 iE Sm? © D

i Find the mean deviation a
for the following data : bout Mmean

A ST (FI° T <9 EE@
sfsa - B
6. 7. 10; 12, 13,4, 8. 12

3. Answer any four of the following questionsg -
S5xq=
s ft R I SIfRG P Sew forat e

(@) The distance between two stati :
100 WB..> ﬂ.mp.d takes 240 BWSMMM Mm
cover this distance. Calculate the s °
of the train in km/h and in m/s, besd
74w SrEE e @9 100 R @3 @m-
e @3 @Y 240 RFGS wfeay wm)
e afere fEf /o0 W e,

e 2ot Sferedt |
(b) The angles of depression of two shi
sh
/\ from the top of the lighthouse are MMM
and 30°. If the ships are 120 m apart
then find the height of the mmwm‘ﬂocmo.
51 #f25 T ST Aql [AH WS Ao (Pl
WEH 45° AF 30° W I WS 7379
Ted 73Y 120 PR =, (o8 w35 199 Swet
s 9
frd a1 : i
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committee of 7 has to be formed from

i :

9 boys and 4 girls. In how many ways

can this be done when the commitiee
consists of—

(i) exactly 3 girls;
(ii) at least 3 girls?
9 & A T* 4 Al
7 st s 5 I = Aafoam ==
e e @R A, R #ass

(i 3 & @A A,
a.ﬂ.‘ﬁ@ﬁﬂawﬂw @A ACE?
d), The length, breadth and height of a
the ratio of 6:5:4 and

(
/\ cuboid are in
its whole surface area is 66600 Qbm.

then find the volume of the cuboid.

I @B Twed G, o TE owel 6:5:4
TS AE WE WR W o I
66600 3 Rl =|W, R FEOR AN
fr =

(e) 1f second, third and fourth terms in the
Qwvaommwob of (x+y" are 135, 30 and
1 s
-3 Trespectively, then find the value
of n.

i (x+y)t wPEE fadw, o8 W 59d
SFL! TW 135, 30 WF 12 =W, (@ nd
T fefa =)
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(N Find the median from the following
data :

Tere i SwR ot g ety
Class Interval :

(= Rrsree)

Frequency 3 3 6

18 10
(IFRS)

(9) Show that (s )
AM 2> GM
RIS G > BT Ty

(h) For a distribution
variance is 22-5%

arithmetic average is 7'5. Find the
value of standard deviation,

I Bt Refema A 2t @i 20.50

Wwwrs.ﬁmﬂmmﬁm
A =4t

» the coefficient of
and the valye of the

Answer any one of the following questions :

wors frl R i @bt e Saa fora -
(a) (i) /State the principle of inclusion and
exclusion. Let A be the set of
positive integers <30 and multiples
of 4, and B be the set of positive
integers <30 and multiples of 6.

20-30 3040 40-50 S0-60 60-7¢

( Continued )

(b)

24A/842

Then by using inclusion ang
exclusion principle, determine the
number of distinct elements of

AUB. S

E ot 25T o5 T T,
Amwmgwm <30

W41W’WBNWN
el AR <30 T 63 FITT | (5B
wage W Txge T T
AUB AR fom G w9 e
|

(ii) Define moment-generating function
of a random variable X. Show tl:lat
the moment-generating function
of sum of two independent
random variables is the product of
the respective moment-generating
function. S

51 e oE X NS SHE TS

@ Bl oS @ O TS IR
PR IO SRSSE T HeIe YO
AT RS T T |

Show that the value of correlation
coefficient lies between —1 and +1. 1(

C{Sq (@ EITTF BMIA I -1 ¥ +17
NS T |
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(c) Given the variar
regression

iy
LR

e of X is 9. The
equations are

W.mmwa'ng.mmmw

8x-—10y+66=0 and (%1%) 40x-18y =214

10

(1) Average values of x and Y
X OF 43 oy RIC|

(ii) Correlation coefficient between X
and y

X ¥ 43 Teq TR B
(iii) Standarg deviation of y

Y1 Wit Ryfs
(d) Write short notes on :
oY It forat
(i) Range
M
() Quartile deviation
beds Rpfe
(i) Least square method

A® 3 *rfs

* K K

2+4+4=1Q

- s i P T S



